
 

 

Answer on Question #57113  –  Math – Algebra  
Question 

1. Which is a rational function?  

A: y = x-5/x  

B: y = 5 

C: y = x^2 – 3x + 5 

D: y = √x-3 

Solution 

  𝑦 = 𝑥 −
5

𝑥
=

𝑥2−5

𝑥
  is a rational function, because it is the ratio of polynomials. 

Answer:  A: y = x-5/x.             

 

Question 

2. y = 2x^2/ 3x^2 -16  

 

what is the horizontal asymptote for the above function?  

Y= ____________ 

Solution 

  lim
x→∞

(
2x2

3x2−16
) = lim

x→∞
(

2x2

x2(3−
16

𝑥2
)
) = lim

x→∞
(

2

3−
16

𝑥2

) =
2

3−0
=

2

3
,  

hence 𝐲 =
𝟐

𝟑
  is the horizontal asymptote for the function  𝑦 =

2x2

3x2−16
 . 

Answer:   𝐲 =
𝟐

𝟑
 . 

Question 

3.  y = 1/x – 5 

 

What is the vertical asymptote for the above function?  

X= _____________ 

Solution 

Since  𝐥𝐢𝐦
𝒙→𝟓

𝟏

𝒙−𝟓
= ∞,  then 𝒙 = 𝟓  is the vertical asymptote for 𝒚 =

𝟏

𝒙−𝟓
. 

Since  𝐥𝐢𝐦
𝒙→𝟎

(
𝟏

𝒙
− 𝟓) = ∞,  then 𝒙 = 𝟎  is the vertical asymptote for 𝒚 =

𝟏

𝒙
− 𝟓. 

Answer: 𝒙 = 𝟓. 
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